Tabell for Laplacetransformation (f(¢) D F(s))

f(t) F(s)
L03 " f(t) (—1)"F ™ (s)
L04 e " f(t) F(s+a)
LO5 | f(t—T)0(t—1T) , (T>0) e T5F(s)
L06 f'(#) sF(s) — f(0-)
LO7 f™() sPF(s) — Y py s"FFED(0-)
L08 Jo_ f(r)dr =Y
L.09 [7 f(r)g(t —7)dr F(s)G(s)
L10 3(2) 1
L11 5 (t) 5"
L12 1 %
L13 5 st
L14 e P
L15 cos bt pRw
L16 sin bt e
L17 % sin bt (52:1;2)2
L18 553 (sin bt — bt cos bt) m
L19 it —1) e s (T>0)

Maclaurinutvecklingar
2 Ln ox
e® = 1+x+§+§+...+a+(nil)!x"“
3 5 2n—1
sin = x-— %"‘% — —+...+(—1)"‘1h+(—1)"% 2l
2 4 2n
cos T = 1—%4—%——4— + (= )"(;n)' +(—1)"+1(2C7387+02)! n+2
2?2 28 " —1)"
m(l+a) = o= 545 =T+ ()T (n+ 1)((1 J)r Qx)n+1xn+1
23 5 £2n-1 _1)»
actans = @ = o4 - St (C) T g e g)(1)+ T
xn—i—l

ey = i (e () Q)+ r () () remees

pp—1)(p-2)...p—k+1)

déir (i) -

k(k—1)(k—2)...1

I samtliga fall dr 6 ett tal mellan 0 och 1 som beror av x och n.



